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Column	
  1:	
  100	
  individuals	
  

Column	
  100:	
  	
  
1	
  individual	
  

(a)	
  

Distribu$on	
  of	
  individuals	
  in	
  the	
  niche.	
  	
  
All	
  individuals	
  have	
  the	
  allele	
  “0”	
  (neutral).	
  

Next	
  step	
  
	
  

(b)	
  

(b)	
  

Next	
  step	
  
	
  

(c)	
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Random	
  crea$on	
  of	
  one	
  
allele	
  in	
  one	
  column	
  	
  

Random	
  crea$on	
  of	
  the	
  allele	
  “1”	
  (adap$ve	
  or	
  
neutral)	
  in	
  one	
  chosen	
  column	
  (at	
  the	
  beginning,	
  
the	
  column	
  is	
  the	
  first	
  on	
  the	
  leJ).	
  



(c)	
  

(d)	
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At	
  each	
  genera$on	
  the	
  allele	
  evolves	
  under	
  driJ,	
  
selec$on	
  and	
  migra$on	
  processes	
  

migra$on	
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30th	
  genera$on	
   75th	
  genera$on	
  

(d)	
  20

40

60

80

20 40 60 80
0.0

0.2

0.4

0.6

0.8

1.0

FAILURE	
  

loss	
  of	
  the	
  allele	
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SUCCESS	
  

	
  reach	
  the	
  1000th	
  genera$on	
  

(e)	
  
2	
  possibili$es	
  

Try	
  another	
  $me	
  and	
  run	
  the	
  exact	
  same	
  simula$on	
  on	
  the	
  same	
  
column.	
  Add	
  1	
  to	
  the	
  try	
  counter	
  (try=1	
  at	
  the	
  first	
  round)	
  
	
  
If	
  the	
  try	
  counter	
  equals	
  100.	
  Create	
  the	
  allele	
  “1”	
  in	
  the	
  next	
  
column	
  (to	
  the	
  right).	
  

If	
  the	
  try	
  counter	
  equals	
  100	
  and	
  all	
  columns	
  have	
  been	
  examined	
   (f)	
  

(a)	
  

3	
  possibili$es	
   (a)	
  






